3SHANRL—F1 >0 707 DEHRAS A NEZSDEHAE (7H5)

T=PCO

B 1(8) 2(N) 3(K) 4(K) 5(&) 6(t)
Y X NEZ Y DEHENE 6.17E-05 (FX) 5.20E-05 (B&X) 7.81E-05 (§X) 6.96E-05 (FX) 8.52E-05 (]X) 5.80E-05 (8&X)
(Bg/cm?) *! ND*2  (8&/I\) ND*2  (8/\) ND*2  (8/\) ND*2  (8/) ND*?  (8/) ND*2 (&)
B 7(8) 8(H) 9(N) 10(K) 11(K) 12(2) 13(%)
EHEY X NEZSDHNE | 7.51E-05 (8X) 1.09E-04 (8X) s 1.36E-05 (8]X) s 5.34E-05 (8X) 9.95E-05 (BX)
. - - il - ol - -
(Bq/cm?3) *! ND*2 (/M) ND*2 (8 ND*2 (8N ND*2  (8/\) ND*2  (8/\)
B 14(8) 15(8) 16(X) 17(K) 18(K) 19(2) 20(t)
78 | EHESXNEZSDIHANE | 5.90E-05 (8BX) 7.05E-05 (8X) 9.34E-05 (R]X) 4.26E-05 (]X) 5.93E-05 (&XK) 6.09E-05 (8X) 7.19E-05 (8]X)
(Bg/cm?) *! ND*2 (&) ND*2 (8] ND*2 (8] ND*2 (8] ND*2 (&) ND*2 (&) ND*? (&)
B 21(H) 22(8) 23(N) 24(7K) 25(K) 26(2) 27(1)
BESY X NEZSDEHANE | 8.43E-05 (]X) 6.05E-05 (B®X) 4.31E-05 (§X) 8.21E-05 (|]|X) 7.23E-05 (8]X) 7.83E-05 (8]X) 7.73E-05 (8]X)
(Bg/cm?) *! ND*2  (8/) ND*2  (B/\) ND*2  (B/\) ND*2  (B/\) ND*2  (B/) ND*2  (B/) ND*2  (B/)
=] 28(H) 29(8) 30(X) 31(7K)
RS A NEZSDEHANE | 5.56E-05 (BX) 8.53E-05 (RXK) 8.70E-05 (B®X) 1.08E-04 (]X)
(Bg/cm?3) *! ND*2  (8&/)\) ND*2 (&N ND*2  (8&/N) ND*2  (8&/\)
X1 : RELDEHAS X NEZSEHANE LRIRE 2024%8H 18IS
X2 : ND = igit
%3 BRERESIR(CHDBEL, BRERSY X NEZIRUVEIIEFRERSY X NEZS ([CERIBEFR0.




